oooooo(oo:o0o0o00)! 20130 10 70O

13 Uubootubtotgbtoubtouboguod

00 ,b000,eb0000000 GCD(e,b) 000000O0.

00 13.1 ¢,b,m,n 000, mn>1000.
()a=b(modmn) 000 a=b(modm) 00 a=b(modn) DO00O0O0O0OO.
(2) 00 GCD(m,n)=100000000000000000.

(3) GCD(m,n) =1 000000 (1) 00000000000. a=b (mod m) O
0a=b(modn) 00000 a=b(modmn) 000000000000 .

00 132 b,e,,m OO0, m >1000. 000 cx=b(modm) 0000000
r€7Z0000000000000O0OD0O GCD(e,m) |bODOOOOOOO.

g 133 000b0bod «00000400.

.

r=2 (mod 3)

(1) ¢ =3 (mod 5)

| #=1 (mod 7)

(2=2 (mod 3)

(2) ¢ =3 (mod 5)
r=7 (mod 11)

\

00 13.4 00000,
(1)100° 0 7000000,
(2) 1304230 43% 4 ... 410 0 31 000000.
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